- TO-=1/2015"
Paper — |

| General Knowledqe &
‘General Engllsh

1 Time : 3 hours
(Both for General Knowledge & General Enghsh)

: FuII Marks : 100
(General Knowledge 50 + General Enghsh 50)

The figures in the right-hand margin indicate marks.

Candidates should write the answers in two separate
Answer Books supplied to them, i.e. one for
‘General knowledge’ and another for
‘Genera! Enghsh

(GENERAL KNOWLEDGE)

~ Answer all questions. - -
Answer each bitdﬂestidn in a full sentence.
1. (a) Why did the ah'cien't Egyptians build'Pyramids ?

1
() Whlch was the fII’St country to have a Wiritten
Constitution? 1

(c) Which organisation was replaced by World
Trade Organisation on 1st January, 19957 1
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() Whatwas the theme of World Tourism Day 2014 ?
' ‘ ' 1
(e) Whichis the longest dam in.the world ? 1

2. (a) Whenwas the Universal Declaration of Human
Rights adopted by General Assémbly of the

United Natiohs ? 1

(b) Which country in the world did launch the First
Family Planning Programme ? 1

(¢) Which battle’s 200" Annive rsary was
celebrated in London recently ? 1

(d} Which city is known as the “City of Seven Hitls" ?

B ] 1

(e) When do we perspire most ? 1

3. (a) Whodid build the Great Wall of China ? 1
(b) Which institution was established in December,
1966 with its headquarters at Manila to
accelerate economic and social development

~ inAsia and Pacific regton ? 1

{c) Where is the 55- storied Tall Maze Tower that
was listed in the Guinness World Records on

21st January, 2015 found ? _ 1
(d) Whatis the currency of Malaysia ? .
(e) Whatis the main cause of Goitre ?. - 1
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4. (a) Where was.the_Non'—aIignéd Movement born ? |
o o
(b) Which country on the borders of india has
Monarchical form of government ?. 1
(c) Whatis the name of the Japanese Builet Train
that had a test run on 21st April, 2015 with a
speed of 630 kms perhour? - 1
(d) Whatis Angkor Wat ? 1
(e) Whyis food cooked fasterin aPressure Cooker ?
. R 1
5. (a): Where have the ruins of a port of Indus Valley
Civilization been discovered ? 1
(b) Which words have been added to the Preamble
of the Indian Constitution by 42" amendment ? 1
-(c) Who did give the idea of Providing Urban
amenities in Rural Areas (PURA) as a strategy
of planning ? g : 1
(d) ‘Which states of India are situated on the coastal
. line? T,
. .(e) Whatdo the letters CFL denote for an electric’
bulb ? . 1
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{(d)

“Policy 2015 aim at developing and positioning

*Which emperor did build the Agra Fort? 1

Who do constitute the Parliament of India? 1

Which Steel Plant of India was set up in

collaboration with Germany ? =~ 1
What is e-tourist visa ? - 1
‘What does cause tab[e sait getting moist during

the rainy season ? ' 1
. . _ N
WhICh was the First Natlonal Movement under

the leadership of Gandhiji? 1

Which method of acquisition of citizenship is

" "applicable to'a foreigner seeking Indian

Citizenship? : - 1

Whatdothe letiers N, |, T&1of NIT! Aayog stand
for ? L 1

What does the vision in Draft National Tourism

Indiaas ? 1

Who was the Chief Architect of Taj Méhal ? 1

Which Constitutional Amendment Act did

- change the spelling of the name of Orissa to

Odisha ? - 1




“(b) Which ‘country did collaborate in settmg up:‘
: Paradeep Phosphates leited at Paradeep ?1

| (c) Whlch Inter—contmental balhst:c_m[ssﬂe was
successfully test fired in its third launch from
Wheeler Tsland on 31st January, 20152 1

..(_d) Why is the Rajaran[TempIe in Bhubaneswar SO |
named ? ) . 1

J

(e) Why do some fruits .taste sweet while some
- others taste sour ? B L

9. (a) Which dynasty's reign did see the building of
two Yogini temples in Oldsha ? 1

(b) How many seats of Odrsha Legls!ative

. Assembly are re_serv_ed for Scheduled Tr;bes ?

(c) What s the rank of Odisha among the States

_ =_a.nd Union territories of India having maximum

. _increase in forest coverage since 1911

- according to India State of Forest Report 2013

- released in July, 20147 - - S

(d)’ Why is Yogimath famous ? - - 1

(€) ‘Which Blood Group is the universal reeipi:eiht ?
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10. (a) WhichActdid provide for creation of Odisha as
- a Separate Province ? | | 1

(b} What is Odisha’s total I|teracy rate in

| percentage accordmg to census of 20117 1

(c) How many years have e[apsed between the last
Nabakalevara and the present one ? 1

(d)} Which village in Odisha has been declared by

the Government of India as "Heritage Village”

and developed as a crafts village ? 1

(e) Whatis Insulin ? 1
(GENERAL ENGLISH)

Answer all questions.
1. Readthe givén passage and answer the questibns
that follow, in your owr words and expression :
4x5 =20
* Minorities experiment ; majorities cling to the forms
of the past. It is safe to say that large nuimbers of
- people will refuse to jettison the conventional idea
of marriage or the familiar family forms. They will, no
doubt, continue searching for happiness within the
orthodox format. Yet, even they will be forced to
innovate in the end, for the odds against success
may prove overwhelming. . -
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The orthodox format presupposes that two young
people will “find” one another and marry. It
presupposes that the fwo will fulfil certain
psychological needs in one another, and that the two

~ personalities will develo-p over the-y'élé-rs, more or
less in tandem, so that they continue to fulfil each
other's needs. It further presupposes that this
process will last “until death do us part”.

These expectations are built deeply into our culture.
Itis no longer respectable, as it once was, to marry
for anything but love. Love has changed from a
peripheral concern of the family into its primary
justification. Indeed, the pursuit of love through family
life has become, for many, the very purpose of life
itself, | | |
Love, however, is defined in terms of this notion of
- shared growth. It is seen as a beautiful mesh of
compiementary needs, flowing into and out of one
another, fulfilling the loved ones, and producing
feelings of warmth, tenderness and devotion.
Unhappy husbands often complain that they have
“left their wives behind” in terms of social,
educational or intellectual growth. Partners in
successful marriages are said to "grow together”.
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~.: This “parallel development” theory of love cairties
- endorsement from marriage counsellors,
.psychologists and sociologists. Thus, says
-...sociologist Nelson.Foote, a specialist on the family,
- the quality of the relationship between husband and
- .wifeis dependent upon "the degree of matching in
their phases of distinct but - comparable
development”.

 ¥f love is.a product of shared growth; however, and
we- are to measure success in marriage by the

- degree to which matched development actually

. oceurs, it becomes possible to _m_ake a strong and

ominous prediction about the future,

“1In a fast-moving society; in which many things
change, not once, but repeatedly, in which the

. husband moves up and down a variety of.economib
... .and social scales, in which the family is-again and
.-, again torn loose from home and community, in which

“individuals move further from their parents, further

.. from the religion of their origin, and further from
., traditional. values, it is .almost miraculous if two
- people develop at anything like comparable rates.

(a) How do the majorities accept-the idea of
marriage ?
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(b) What expectetigge do the partners in ;m_arriage

i Vcarry'? _ .
Ac) ‘Love has changed from a perfpheraf concern
| of the family into jts primary justification.’ Why
. ;. doesthe aU_*hPE;ﬂ?;i_n,k-SO ?
.-(d) What does the author mean by the “paralilel
development” theory of love ?
(¢) Does the passage focus on a marriage of love ?
Give' reasons for your answer.

2. Rewrite the following sentences as per the directions
given in brackets :  1x10=10

(a) The age limit for applying for the post is 28
' years Thereis a relaxatton of five years in case
of STISC candtdates

(Jom the two sentences bya su&table Link word.)

(b) Neither the Principal nor the Lecturers
present in the meeting.

(Fillin the blank with a correct verb.)
(c) Arolling stone gathers no moss.
(Change into a complex sentence:}

'(d) Notiew tax has been imposed on the electronic
items in this budget. (Change the voice.)
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(e) Children are so fond of TV, they S it
" for hours together before it S

(Fillin the biank with a swtable modal.)

" He said to me, “Do youi want to accompany me

' on my trip to Darjgeling 2" ' :
(Change intd Indirect Speech )
" {(g) Financial diffi cultlee delayed our pro;ect by one

year. e e |
(Replace the verb witha suitable phrasal verb.)
(h) We met only a few minutes before.
(Correctthe sentence.) .

(i) One who has a speCIaI skill in judging food, wine,
efe. (Express ina s;ngle word.)

j '_ (|) | The pOlIthlan had a selfish motlve in supporting
' the cause of the students.

(Replace the underiined words wsth a suttable
Mmm) '

3 Transiate the followmg passage into English .2'0

| JeGR YOARIENER 950 Fgl 6adl QIRIAR
| BQRIgE SEM6R, OIS ATER IR SAIKIQUR |
FEIFrQIR Qiglea SIF Tes galrt 4Rl Aae RAYR |
2800 UA 30n 9ga I9° QUIGAH CASIAIR OIF AINER
QueiFal | 36 aafide Rrrgae Ul QIF aIsg |

| QuIR 9e° gRsql aaifle agd 2gde ceRl | 9IS
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Bedel 99° Qlaade gd gdel IR §a 9aIeg
CRIRAIEH 2GR 9S° QRQA ga-AIca 621 ARIREER
oIg

Qe asea fdiee AR fac ARdRl feng
ANArgiE qUIGd Q661 €I9RQQ e | sl
2IAININICR 2016 626 i Faew Jqasa &8
QAQIB6RR | Hdlew TRITR YIS SRl | Far Foea
GRcefl gOeRIs0IQ 9 JagiNe 6RIC IQUIKRER |
@66 uiedaia deae o9 49 Farqlg udea
Cre1aeea AGE 6R6M 1 6d 26A FPYIFGRA ATR0Y
el | B0 98 NQ° AIAIS gIY M98 IREH 64 6ARGIEH
cUIGe (EiFrIRa daaig |

QB F1RI6A ORI Y° FARERIQ F°gt afeal
e 980 gIae Q°oInica 026Rd | 918Q, gRI, QIReR
99° SUIAT AGIES CUFING 6AQI6R | QUIee dIg
6R6R AQRIRL SR AR YL, FIQQ P0G 6SIR A
2loea | A%6a A86q QIR ARG gRdl QA 2iee
QF 2Ad | QI TEQIFICIER AR ARG 6QARE |
Z19Q 2RI Gl IRI | ORIERA PIRIGI OI§leR
JoI0d QIPQ QAR | FORNIPT COIGER AARIQ
Q100 96ndE QIR 1 6900 &8 0) cRIAAIQR QIR
QR (1Rl 7I¢ 4HIn G218 | 6RICAe! URIAIGE ALT
ZINITIER NGB | G6QISIFIER AT AQE 2GR SLIETM
99° g2 C°g1 62/ CI0Q 9QICRAIT FIRIEA TAR |

&
0’0
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